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Answer Question No. 1 and any four from the rest.
1.. Answer the following (10 x 1 =10)

(1) An institution is composed of

(a) Actors and groups

(b) Rules and procedures
(c) A Value and norms

(d) All of these

(11) Who argued that sociology is the science of
study of social relationship?

(a) The formalistic school
(b) E. Durkheim
() R. K. Marton

(d) The synthetic school
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(111) Who 1s one of the following is not a push factor
of rural to urban migration?

(a) Rural unemployment
(b) Increasing practice of dowry in rural area
(¢) Rural poverty '
(d) Decline of cottage industry -
(1v) Which of the following is an essential element

of a society to maintain harmony and proper
functioning?

(a) Differences
(b) Cooperation
(¢) Likeness
(d) Conflict
(v) Which following community is. a result of
development of technology and modernization?
(a) The nation community
(b) Rural community
(¢) Urban community
(d) None of these

(vi) Which one of the following 18 chlef agencies of
socialization?

(a) The family
(b) Community
(¢) Society
(d) Religion
(vii)) Who one of the following thinker is recognlzed
' as father of sociology?
(a) Daniel Bell
(b) Max Weber
(¢) August Comte
: (d) Robert Redfield
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(viii) In where Industrial revolution took place?

(1x)

(x)

(b)

(b)

(a) India
(b) Australia

(¢) England

(d) Canada

Disguised unemployment means

(a) dJob seekers are confused

(b) Workers who work in off seasons

(¢) To many people are working But actually
they are required less in number

(d) none of above

Which of the following is the example of
matriarchal society?

(a) Bengali society

_(b) Khasi society -

(c) Assamese society
(d) None of the above

Define culture. Compare and contrast culture

and civilization. 2+ 5=T7)
Define Sociology. What do you mean by scope of
sociology. ; (3 + 5 =8)
Define industrial dispute. v (5)

Briefly discuss the causes of industrial dispute
and how industrial dispute can be settled with
the help of collective bargaining, conciliation
and arbitration methods. 4+ 6=10)
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4. (a)

(b)
5: (a)
(b)
6. (a)
(b)

What do you mean by workers participation in

Imanagement? ‘ (5)

Discuss the wvarious preconditions and
objectives of workers participation in
management. . (B+5=10)

Define social change. Discuss the impact of
technology for brining changes in society.

(24+H="7)
What is mean by gender? Discuss on changing
gender role in modern society. . (8+5=8)

Define Human Resource. Discuss briefly the
various significance of human resources.

2+ 6 =8)
Define Productivity. Explain the factors that
effecting productivity. (2 + 5=T)

10 Write short notes on any THREE of the following :

(a)
(b)
(©
(d)
(e)

5+ 5+ 5 =15)

Unemployment.

Poverty

Impact of over population
Types of family

Trade Union.
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